FILE: IM_091-158-430-250_revC.PB5
REV: C

REVISED BY: PSS

DATE: 12-27-12

INSTRUCTION MANUAL

SUPER 30 AUTO EJECT

AUTOMATIC SHORE LINE DISCONNECT

S0 AMP

MODEL # 091-159-430-250
Note: 3-Phase ONLY

2 YEAR WARRANTY

™
170 Cherry Ave. ' ‘ KU ss MAU L Phone: B831-5687-0314
West Sayville, NY 11796 K E Fax: 631-5687-5826
wosimamaizon i) ELECTRONICS  coceermarmou o

ENERGIZED AND READY, WHEN SECONDS COUNT




INTRODUCTION

The Super 30 4 Pin Auto Eject is a completely sealed automatic power line disconnect. This prevents
contamination of the mechanism by road dirt and ensures long reliable life even when mounted in the most
severe environment. A novel plug detector closes and opens a 40 amp contactorin a seperate weatherproof
box after the mating connector is inserted and before the connector is ejected. This eliminates arcing at the
connector contacts and assures long contact life. As with all Auto Ejects, the Super 30 4 Pin Auto Eject is
connected to the starter circuit so that ejection occurs when the engine is cranked.

INSTALLATION INSTRUCTIONS

Step #1 Mounting of unit

1.

Locate a convenient place on the vehicle to mount the Super 30 4 Pin Auto Eject. A minimum
clearance of 5 inches behind the mounting panel is required.

Place the hole template (figure 4) in position and center punch in 6 places. *Note: it is
recommended to mount the unit vertically with the weatherproof cover closest to the top of the
mounting plate (see Figure 1).

Drill 6 mounting holes, #29 drill (0.136” diameter). Be certain that all the holes are precisely located.

Cut-out rectangular hole.

See figure Tmounting. Install weatherproof cover, weatherproof cover gasket, mounting plate, and
mounting plate gasket to super 30 using (2)#8-32 x 3%” and (2)#8-32 x 1 5/8” screws provided.

Install that assembly into cut-out in truck wall using (6)#8-32 x 12” self tapping screws provided.

Step #2 Mounting of Contactor Box

1.

Locate a convenient place on the vehicle close to the Super 30 4 Pin Auto Eject so the wires will reach
the box. Use screws supplied.

Step #3 Wiring Unit

1.

See figure 3 Wiring. Insert AC wires through the Contactor Box strain relief and install wires as
shown.

See figure 3 Wiring. Install DC wires as shown, use 18 AWG wire minimum.

Test the unit to verify that it is operational.



TEST AND OPERATION

To test the unit make sure all wiring is complete. Plug in connector to the Super 30 4 Pin Auto Eject and start
the vehicle. The connector should eject at this time.

The Super 30 4 Pin Auto Eject disconnects the shoreline by extending a shaft to push the plug out of the unit.
A novel plug detector closes and opens a 40 amp contactor in a seperate weatherproof enclosure after the
mating connector is inserted and before the connector is ejected. This eliminates arcing at the connector
contacts and assures long contact. Because of this, the connector can be operated manually or
automatically with no damage to the unit.

Measure the voltage from TP1 & TP2 (see figure 3). This must be 120 volts AC to operate the contactor.

NOTES AND CAUTIONS

NOTE

Do not permit the shore line to drop to the floor when it is ejected. Keep from falling by utilizing
a bungee cord restraint, cord reel or some other device. Dropping the connector may result in
damage or breakage. Kussmaul Electronics does not warrant the connector.

ABOUT CONNECTORS
The Super 30 4 Pin Auto Eject is supplied with mating connector. We suggest that you utilize the

connector supplied. When replacing with another connector, test carefully that the new
connector will eject properly.



#8-37 x 1 5/8" 5.5 SCREW 2 PLACES

NEATHERPROOF COVER

WEATHERPROUF COVER GASKET

//0: [ —
/’/7\\
0P
— '
|| =
:
§8-32 x 3/4" S5 SCREW
{— I
/ L
MOUNTING PLATE
GASKET TRUCK WALL
SUPER 30

¥8-32 x 1/2" 5.5. SELF TAPPING
SCREW 6 PLACES

5SS, MOUNTING PLATE

UNLESS DTHERWISE SPECIFIED:|/ >
DIMENSIONS ARE IN INCHES

Y
00 NOT SCALE TRAWING

TOLERANC ES

T KUSSMAUL ELECTRONICS CO., |

WEST SAYVILLE, NY

NC.

OEC IMALS ANCULAR
XX+

ORAWN

FIGURE 1 MOUNTING INSTRUCTIONS

T Nu g@ﬂ t 5126

FINSH

owt  NO-

09

159

MATI

SCALE

‘ DATE

‘ SHEET DF




c¢locLecl

o

s

0ev-651-160

s

JuabnN L

N
"ONI O30 SOINOHLO= 13 TMVINSSIT @’A.E

AN TS 53

MONUL NO avO10L

“OV SITOA 021 vl

JINOHS NOA ZdL B LdL

N3IMIIE FOVITOA 3HL

JUNSYIN 1O3r3 OINY OINI AILIFSNI ONd HIM

"31v13dO OL ¥OLOVINOD 04

OV SI10A 0Z 1 OL AALOINNOD

38 1SN AFHL 'HOLMS

¥J0LO3130 ONTd 3HL OL G3LOINNOD RV SRUIM 3S3HL
'3VRAdO OL OV [TOA 0Z | SA3IN JOLOVINOD JION

ANNOUD NIFID

QvO1NO d3ddNs

STINUAS (€) TIVISNI

N

XO8 400UdFH1YAM HOLOVINOD

b

S[IOA¥Z+ 1021+ IS4 dANV T

SNONNIINOD 'SIIOA P2 ¥0 Z 1+ HOV18
(annoys) Nazuo

(121v1S) UM

ESEE]

1Ov18 j
uadnine 27 3UHM
Aovg
€103
3 3
3
- OMY 0L S3IM 3NN OV
[ A= o
HOovg
a1 €1
OV 1TOA 021 HOLIMS JOLO3130 ON1d
ANNOUD 3ON« AlHM
710D OV 110A0Z L
AOLOVINOD
L el
S3UM

NOIUWI3JO 103r3 OINY 04 INdNI Oa

HOLIMS 3010313a ON1d

103r3 OLNY 0€ ¥3dNS Nid ¥




4.85

4,35

73

/877

#29 DRILL (0.136") 6 PLACES

FIGURE 4 HOLE TEMPLATE

03

8 3/8"




6.210

4.190

1.010

0.330 -

4.676

5.356

= 1.475 —

4.735

1.282

]
L] ]
0.500
N f
42
oAt s f ‘@ KUSSMAUL ELECTRONICS CO., INC.
XX + .005
S0 e i OUTLINE DRAWING
B Nugent & WG No, e
FNsH 091-159
AT DATE




SPECIFICATIONS

Input Voltage: +10 to +28 VDC

Input Current: 1.6 Amps Max

External Fuse: 2 Amp

Rating: 3-Phase, 250 Volts AC, 30 Amps

Hardware Pack: Inline fuse holder with fuse; mounting plate with gasket;

cover with gasket; 720239F X: 4-pin mating plug;
mounting screws



INSTALLATION RECORD & WARRANTY

Date Installed

Installed By

Vehicle Identification

Vehicle Owner

2 YEAR WARRANTY

All Super 30 Auto Ejects manufactured by Kussmaul Electronics Company Inc.
are warranted to be free of defects of material or workmanship. Liability is limited to
repairing or replacing at our factory, without charge, any material or defects which
become apparent in normal use within 2 years from the date the equipment was
shipped. Equipmentis to be returned, shipping charges prepaid and will be returned,
after repair, shipping charges paid.

This warranty does not include normal wear and tear, pitting of the electrical
contacts, malfunction due to contamination of the mechanism, or any cracking,
breakage or damage to the connector.

Kussmaul Electronics Company, Inc. shall have no liability for damages of any
kind to associated equipment arising from the installation and /or use of the
Kussmaul Electronics Company, Inc. products. The purchaser, by the acceptance
of the equipment, assumes all liability for any damages which may result from its
installation, use or misuse, by the purchaser, his or its employees or others.






